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1 Derive setback distance on Horizontal Curves. [10] coz2| L3
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A state highway passing through a rolling terrain has a horizontal curve of radius
equal to the ruling minimum radius. Design all the geometric features of this
horizontal curve, assuming suitable data. Specify the minimum set-back distance
from the center line of the two lane highway on the inner side of the curve up to
which the buildings should not be constructed so that ISD is available throughout
the circular curve. Assume the length of the circular curve is greater than the sight
distance.
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Explain the different types of gradients.
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4 Explain how the length of summit curve is decided. [10]  coz
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5(a) A vertical summit curve is formed at the intersection of two gradients, +3% and -  [05] Co2
5%. Design the length of summit curve to provide a stopping sight distance for a
design speed of 80 kmph. Assume other data
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(b) An ascending gradient of 1 in 100 meets a descending gradient of 1 in 120. A [05] | CO2 L3

summit curve is to be designed for a speed of 80 kmph so as to have an overtaking
sight distance of 470 m.
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